PORSCHE

e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




PORSCHE

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




Rot sy

= Land PORSCHE
911 991 2012-2019
PO-12401 PO-14436
Tie Rod End Stabilizer Link
Front Front Right d R
99634713104 99134307002 \
PO-14437
d Stabilizer Link
Front Left
‘q\ 99134306902
911 993 1994-1997
| |
PO-13303 PO-23304303
Axial Joint Steering Tie Rod Assembly
ﬁ Front Front “
M14x1.5-L=174mm 09334703103
99334713101
| |
PO-12304
Tie Rod End
L Front
o - M14x1.5
99334703103
911 996 1997-2005
|
PO-13403 PO-12401
£ Axial Joint Tie Rod End
Front Front
M14X1,5-L=198mm 09634713104
99634732203
PO-16428 PO-14108
6 Suspension Control Arm andfall Joti?t Stabilizer Link I
S (O ssembly
: ﬂ\\' Front Lower / Rear Lower Frontliight ?—_‘~
Qﬁ" Chassiono (00860703033 0 =200 28
i 99634307003
99634105317
|
PO-14109 PO-14206
Stabilizer Link Stabilizer Link ;
Front Left Rear
986 L=99,5mm !I
99634306903 99633306903

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

911 996

PO-14446

Stabilizer Link

#u\d Front

99634307305
911 997
|
PO-13413 PO-16428
Axial Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Lower / Rear Lower
99734732201 (passisno.t0:986U703033
99634105317
|
PO-14414 PO-14415
Stabilizer Link Stabilizer Link
Front Right Front Left
L=299mm L=299mm
99734307403 99734307303
|
PO-14416 PO-14417
Stabilizer Link Stabilizer Link
Rear Right Rear Left
L=85mm L=85mm
99733307006 99733306906
|
PO-16418 PO-12401
Suspension Control Arm and Ball Joint Tie Rod End
f‘ﬁ&, Assembly
R, i Front
Fo o Front Lower / Rear Lower
99634713104
99734105304
VW-16326 VW-16325N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front
Front Left Lower
Ball Joint D=@17mm  171407153D
171407153D
VW-12301 VW-11304
Tie Rod End Ball Joint
Front Front
M14x1,5Rht 4171407365G
251419811

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

PORSCHE

1997-2005

2005-2012

parsrot.com

5

info@parsrot.com



—
sy L and

PORSCHE
1975-1988

|
VW-16325 PO-20163
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
Front Outer
Front Right Lower
Ball Joint D=@17mm 17/ 1407181A
171407153D
|
PO-20164
Control Arm Bushing
Center
171407182E
BOXSTER 986 1996-2004
|
PO-12401 PO-14109
m Tie Rod End Stabilizer Link
&7 4
. Front Front Left
y 4
' //“// 99634713104 986
99634306903
|
PO-14108
I Stabilizer Link
Front Right
O& 986 L=200mm
99634307003
BOXSTER 987 2004-2012
|
PO-13413 PO-12401
Axial Joint Tie Rod End m
/.
Front Front y
99734732201 99634713104 Vo
PO-16428 PO-16418
-
‘ Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint .
— .(_?:\\\ Assembly Assembly P‘ﬁ’
SO Front Lower / Rear Lower Front Lower / Rear Lower Fo =
@.. Chassisno.t0:986U703033  go-a 10030,
99634105317
|
PO-14119 PO-14118
Stabilizer Link Stabilizer Link
b? * Front Left Front Right
2% 987 L=200mm 987 L=200mm
99734306901 99734307001

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



92A
VW-12212 VW-19215
Tie Rod End Lateral Arm
Front Left Rear Upper Front
M16x1.5Rht 71 0505323
7L0422817D
AU-20859 VW-16210

Control Arm Bushing
Front Outer
7L8501529A

Suspension Control Arm and Ball Joint
Assembly

Front Upper

Alum.
95534102701
AU-16709 AU-16708
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
7L8407151E 7L8407152E
AU-16149 AU-16148
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
7P0407151E 7P0407152E
VW-12211 VW-23212213
Tie Rod End Steering Tie Rod Assembly
Front Right Front Left
M16x1.5Rht 71 0420803C
7L0422818D
AU-19704 VW-23211213
Lateral Arm Steering Tie Rod Assembly
Rear Right Front Right
(ALM) 71 0422804C
7L0505398
VW-13213 AU-19705
Axial Joint Lateral Arm
Front Rear Left
M16x1,5Rht-L=287,5mm (ALM)
7L0422821 7L0505397

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

PORSCHE

2011-2017

parsrot.com 7

info@parsrot.com



Rot sy

== Land PORSCHE
CAYENNE 92A 2011-2017
AU-19707 AU-201102
Lateral Arm Control Arm Bushing
Rear Lower Front Lower Outer
7L8501529A 7P0407152E
|
VW-14214 AU-20316
Stabilizer Link Control Arm Bushing
Front Center
L=197mm 71 04123334
7L0411317
AU-20286 AU-20285
Control Arm Bushing Control Arm Bushing /
Rear Lower
95534124204 95534158810
955 2002-2010
|
AU-20286 AU-20316
Control Arm Bushing Control Arm Bushing
Rear Center
95534124204 7L0412333A
|
AU-20285 AU-20432
Control Arm Bushing Control Arm Bushing
Lower Front Upper
95534158810 7L0407077
|
VW-13213 VW-23211213
Axial Joint Steering Tie Rod Assembly
—__m* Front Front Right
M16x1,5Rht-L=287,5mm 7L0422804C
7L0422821
|
VW-23212213 VW-12211
Steering Tie Rod Assembly Tie Rod End
é — Front Left Front Right
7L0422803c ~ M16x1.5Rnt
7L0422818D

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

8

info@parsrot.com



Rot sy

== Land PORSCHE
CAYENNE 955 2002-2010

VW-16210 VW-14214

Suspension Control Arm and Ball Joint Stabilizer Link
Assembly Eront @'\
Front Upper -
7L0411317
95534102701
AU-20859 AU-16169

Control Arm Bushing

Front Outer

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

7L8501529A
7L0407151K
AU-16168 VW-16218
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Right Lower
7L0407152K 95534101832
VW-16219 VW-12212
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Left
Front Left Lower M16x1,5Rht
VW-14217 VW-14216
Stabilizer Link Stabilizer Link
Rear Left Rear Right
L=201mm L=201mm
95533307011 95533307010
CAYMAN 987 2005-2013
| |
PO-14118 PO-14119
Stabilizer Link Stabilizer Link
FrontRight  Front Left . *
987 L=200mm 987 L=200mm b 2%
99734307001 99734306901
|
PO-16418 PO-16428
[ ]
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint ‘
. ﬂ@,}; 9 Assembly Assembly (2
st ﬁ\\_
- Front Lower / Rear Lower Front Lower / Rear Lower =g

99734105304

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Chassisno.t0:986U703033
99634105317

parsrot.com

info@parsrot.com



Rot sy

= [and PORSCHE
CAYMAN 987 2005-2013
|
PO-12401 PO-13413
Tie Rod End Axial Joint
Front Front \
99634713104 99734732201
MACAN 95B 2014 after
|
AU-11734 AU-14626
£ Ball Joint Stabilizer Link
\ Front Lower Front
8Wo4076898 - 170mm
P 4G0411317C
|
AU-12631 AU-19689
Tie Rod End Lateral Arm
,L Front Right Rear Left Upper
’ M16X1.5  gK0505323H
4G0423812A
AU-19688 AU-16685
Lateral Arm Suspension Control Arm and Ball Joint
\ s | Assembly
- Rear Right Upper
— Front Left Upper Rear
8K0505324H
8K0407509M
AU-12632 AU-13830
Tie Rod End Axial Joint
J Front Left Front
- - M16X1,5 M16x1.5/L=236
4G0423811A 4G0423810A
|
AU-16682 AU-16683
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
@\ - Assembly Assembly
S \\‘4 Front Right Upper Front Front Left Upper Front
8K0407506M 8K0407505M
|
AU-16684 AU-16609
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
a Ay Front Left Lower Front
=

Front Right Upper Rear
8K0407510M

* Name of vehicles, models, logos, OE numbers and others in

8K0407151G

this document are used for reference purposes only.

parsrot.com

10

info@parsrot.com



Rot sy

= Land PORSCHE
MACAN 95B 2014 after
|
AU-16608 AU-11674
Suspension Control Arm Ball Joint
@ X Front Right Lower Front Front Lower ﬁg
o 8K0407152G  4G0407689C )
| |
10) AU-19589
Lateral Arm
Rear Lower Front
8K0501529L
PANAMERA 970 2009-2016
|
PO-13503 PO-12501
Axial Joint Tie Rod End
Front Front Right
97034713300 PowerSteering
97034713201
|
PO-12502 PO-14500
Tie Rod End Stabilizer Link
Front Left Front -
Powerstering activestabilizer &T %1"
97034713301 97034306923
PO-14506 PO-14507
Stabilizer Link Stabilizer Link
Front Rear @ —
97034306903 97033306905

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

11

info@parsrot.com






